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‘ @ '[he larger of two suppiementary angles exceeds the smaller-by-24"-The
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Q3. A quadratic polynomial whose onem is5

' Q7. Ifthe curves for more than ogive and and less than ogive of a given grouped data mee%%a
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THE MOTHER’S INTERNATIONAL SCHOOL
SUMMATIVE ASSESSMENT-1(2013-2014)
CLASS X
SUBJECT: MATHEMATICS

TIME: 3 HOURS : M.M.:so
General Instructions:

(i) All questions are compuilsory.
(i) The questlon paper co of

questions of 4 r
(iii) Question numbers

to select one co
(iv) There is no overall ¢ oic
(v) Use of calculators is not permltted

re multiple choice questions where you are required
en four. -

SECTION A
Question numbers 1 to 8 are of one mark each.
Q1. Whlch of the following rational numbers is expressmle as a non-terminating repeating

(@) ¥ -5 (b) 5¥°+1
Q4. IfinADEFand APQR, /D=2
; EF> DF . 1 9DE" 5

(a)ﬁ 70 (‘2)‘—

Q5. IfA, B, and Care

Q6. Which of the following is possible?

' (a) Costl =% (b) Sind= -1% (©) Sect =3 : (d)Tan = 41

point (30, 45), then the median of the data is
a) 30 (b) 45 ()75 -~ (d)15
Q8. Two alarm clocks nr;g their alarms at regular intervals of 50 se
first beep together at 12 noon, at what time will they bwp ag -‘
(a) 12.20 pm (b) 12.12pm () 12.11




~Q§ If ¢, g are zeroes of quadratrc polynomlél 2x* + 5x + k, find the value of k such that

(@ + B)? - af=24
0. For what value of ‘p’, the following system of equations will be mconsmtent
4x+6y=11, 2x+py=17

Qﬁ If7Sm29+3Coszﬂ—~ .;fmdmevaiueofl‘ane

Marks ob@ned
More than or
More than
More than or eq
More than or equal to
More than or equal to 80

6. ABC and AMP are two right triangles, right angled at B and M respectively. Prove that
(i) A ABC ~ A AMP c A

€4 .-8C

=

fonn 3m or 3m+1 forsome

/@ Evaluate

tan? 60° + 4 cos? 45° +3cos ec?60° +2cos® 90°

2cosec30® +3sec60’ — —37—0'0t2 30°

@( If Secd = x+21——, thenvprove that
X

1
Secd + Tand =2x or ;



o

'.";'j loyees in a facfory. Also, interpret the value of modé obtained.

| 20-30 | 30-40 | 40-50 | 50-60 | 60-70 |
A (inyears) 5 : , =
[ Numberofemployees | 5 | 26 | 78 | 104 | 98 -

700 - 800 9
800 - 900 ]
900 - 1000 4

‘- %the graphs of the equétio — =

e T

4z y=8_Shade the triangle gle formed by

@ In AAB uch th
Find the ratio of the areas of A APQ and trapezium
Evaluate
cersl®
Secai? Sin(90° —8)Cosec(90° —0)Cotd
+ B
Cosec59”  Sec(90° —8)Cos(90° —6)Tan(90° —6)
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o
a



‘931 in a factory, 4 4n
- canfinishitin 28 days. Fmd the time taken by one man alone and by one boy alone to ﬁnlsh

Q33.
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